Secondary 3 Honors Name:
Notes 12-3: Polar Graphs Period:
There are 4 types of polar graphs:
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gxes
cenfers

2. Limacon Curves

here

window [-2, 10] by [-5, 5]

Equations: = (O, & b s e’

are four types of Limagon curves. Although the general equation
e shape of the Limagon is the relationship between a and b, specifical

each equatlon below. Then determine how a and b are related in each type<

ary on drfferent gueg.

r= oEbSNG

jsthe same, what changes
B- ketch the graphs of
of equation. Use the

r=2+4cos0 0\‘_. 3_33_},_r=2+2cos9 g=2 (8 .
b 2 b= = ‘
@ =
INNER {o0p CARDIOID
a Qa
7 se<2) | UV |[e=2
DIMPLED coNVEX




3. Rose Curves
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How are cireles with 2 = a? sin 260 different from circles with 72 = a2 cos 26?
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Without using your calculator, match the polar equation with its graph. Explain your choice.
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